

## ON GENERALIZED DEGENERATE TYPE 2 EULER POLYNOMIALS

HAN YOUNG KIM, LEE CHAE JANG, AND JONGKYUM KWON

**ABSTRACT.** Recently, Kim-Kim studied the generalized degenerate Euler-Genocchi polynomials. In this paper we define the generalized degenerate type 2 Euler polynomials as a degenerate version of the Euler-Genocchi polynomials. In addition, we define their higher-order version, namely the generalized degenerate type 2 Euler-Genocchi polynomials of order  $\alpha$ . The aim of this paper is to investigate some properties and identities involving those polynomials the generalizes falling factorials, the degenerate type 2 Euler polynomials of order  $\alpha$ , the degenerate Stirling numbers of the second kind and the alternating degenerate power sum of integers.

### 1. INTRODUCTION

Masjed-Jamei et. al.[1] studied the new type Euler polynomials and their properties, and also we studied the type 2 degenerate cosine-Euler and the type 2 degenerate sine-Euler polynomials in [11]. Recently, Kim et.al.[11] studied the generalized degenerate Euler-Genocchi polynomials and investigate interesting properties of them. In this paper, we introduce the generalized degenerate type 2 Euler polynomials as a degenerate version of the type 2 Euler-Genocchi polynomials and are motivated by the paper [11]. In addition, we introduce their higher-order version namely the generalized degenerate type 2 Euler-Genocchi polynomials of order  $\alpha$ , as a degenerate version of the generalized type 2 Euler-Genocchi polynomials of order  $\alpha$ . The aim of this paper is to study certain properties and identities involving those polynomials. The outline of this paper as follows. In section 1, we recall the degenerate exponential function, the degenerate Euler polynomials, the degenerate type 2 Euler polynomials of order  $\alpha$  and the degenerate type 2 Genocchi polynomials of order  $\alpha$ . The section 2 is the main result of this paper and we introduce the generalized degenerate type 2 Euler-Genocchi polynomials  $l_{n,\lambda}^{(r)}(x)$ , as a generalization of both the degenerate type 2 Euler polynomials and the type 2 degenerate Genocchi polynomials.

As is known, the type 2 Euler polynomials  $E_n^*(x)(n \geq 0)$  and the type 2 Genocchi polynomials  $G_n^*(x)(n \geq 0)$  are respectively defined by

$$(1) \quad \frac{2}{e^{\frac{1}{2}} + e^{-\frac{1}{2}}} e^{xt} = \sum_{n=0}^{\infty} E_n^*(x) \frac{t^n}{n!}, \quad (\text{see [5, 10, 11, 13]}),$$

and

$$(2) \quad \frac{2t}{e^{\frac{1}{2}} + e^{-\frac{1}{2}}} e^{xt} = \sum_{n=0}^{\infty} G_n^*(x) \frac{t^n}{n!}, \quad (\text{see [5, 6, 12, 14]}).$$

When  $x = 0, E_n^* = E_n^*(0)$  ( or  $G_n^* = G_n^*(x)$  ) are called type 2 Euler (or type 2 Genocchi) numbers.

For any nonzero  $\lambda \in \mathbb{R}$ , the degenerate exponential functions are defined as

$$(3) \quad e_\lambda^x(t) = (1 + \lambda t)^{\frac{x}{\lambda}} \quad e_\lambda(t) = e_\lambda^1(t) = (1 + \lambda t)^{\frac{1}{\lambda}}, \quad (\text{see [10, 15]}).$$

From (3), we easily get

$$(4) \quad e_\lambda^x(t) = \sum_{n=0}^{\infty} (x)_{n,\lambda} \frac{t^n}{n!}, \quad (\text{see [2, 15]}),$$

where  $(x)_{0,\lambda} = 1, (x)_{n,\lambda} = x(x-\lambda)\cdots(x-(n-1)\lambda), (n \geq 1)$ .

Kim-Kim considered the degenerate type 2 Euler polynomials given by

$$(5) \quad \frac{2}{e_\lambda(t) + e_\lambda^{-1}(t)} e_\lambda^x(t) = \sum_{n=0}^{\infty} \mathcal{E}_{n,\lambda}(x) \frac{t^n}{n!}, \quad (\text{see [11, 12, 13]}).$$

When  $x = 0, \mathcal{E}_{n,\lambda} = \mathcal{E}_{n,\lambda}(0)$  are called the degenerate type 2 Euler numbers.

For any nonzero  $\alpha \in \mathbb{C}$ , the degenerate type 2 Euler polynomials of order  $\alpha$  are defined by

$$(6) \quad \left( \frac{2}{e_\lambda(t) + e_\lambda^{-1}(t)} \right)^\alpha e_\lambda^x(t) = \sum_{n=0}^{\infty} \mathcal{E}_{n,\lambda}^{(\alpha)}(x) \frac{t^n}{n!}, \quad (\text{see [3, 12, 14]}).$$

When  $x = 0, \mathcal{E}_{n,\lambda}^{(\alpha)} = \mathcal{E}_{n,\lambda}^{(\alpha)}(0)$  are called the degenerate type 2 Euler numbers of order  $\alpha$ .

Recently, the degenerate type 2 Genocchi polynomials of order  $\alpha$  are defined by

$$(7) \quad \left( \frac{2t}{e_\lambda(t) + e_\lambda^{-1}(t)} \right)^\alpha e_\lambda^x(t) = \sum_{n=0}^{\infty} g_{n,\lambda}^{(\alpha)}(x) \frac{t^n}{n!}. \quad (\text{see [6, 12, 14]}).$$

When  $x = 0, g_{n,\lambda}^{(\alpha)} = g_{n,\lambda}^{(\alpha)}(0)$  are called the degenerate type 2 Genocchi numbers of order  $\alpha$ .

In particular  $\alpha = 1, g_{n,\lambda}(x) = g_{n,\lambda}^{(1)}(x)$  are called the degenerate type 2 Genocchi polynomials.

For  $n \geq 0$ , the degenerate Stirling numbers of the second kind are introduced by Kim-Kim as

$$(8) \quad (x)_{n,\lambda} = \sum_{k=0}^n S_{2,\lambda}(n,k)(x)_k, \quad (\text{see [7, 8, 9]}),$$

where  $(x)_0 = 1, (x)_n = x(x-1)\cdots(x-n+1), (n \geq 1)$ .

For  $k \geq 0$ , the incomplete Bell polynomials are defined by

$$(9) \quad \frac{1}{k!} \left( \sum_{i=1}^{\infty} x_i \frac{t^i}{i!} \right)^k = \sum_{n=k}^{\infty} B_{n,k}(x_1, x_2, \dots, x_{n-k+1}) \frac{t^n}{n!}, \quad (\text{see [4, 7, 16]}),$$

where

$$B_{n,k}(x_1, x_2, \dots, x_{n-k+1}) = \sum_{l_1 + \dots + (n-k+1)l_{n-k+1} = n} \frac{n!}{l_1! l_2! \cdots l_{n-k+1}!} \left( \frac{x_1}{1!} \right)^{l_1} \cdots \left( \frac{x_{n-k+1}}{(n-k+1)!} \right)^{l_{n-k+1}}.$$

## 2. The generalized degenerate type 2 Euler-Genocchi numbers and polynomials

For  $r \in \mathbb{Z}$  with  $r \geq 0$ , we consider the generalized degenerate type 2 Euler-Genocchi polynomials given by

$$(10) \quad \frac{2t^r}{e_\lambda(t) + e_\lambda^{-1}(t)} e_\lambda^x(t) = \sum_{n=0}^{\infty} l_{n,\lambda}^{(r)}(x) \frac{t^n}{n!}.$$

Note that  $l_{0,\lambda}^{(r)} = l_{1,\lambda}^{(r)}(x) = \dots = l_{r-1,\lambda}^{(r)} = 0$ .

When  $x = 0$ ,  $l_{n,\lambda}^{(r)} = l_{n,\lambda}^{(r)}(0)$  are called the generalized degenerate type 2 Euler-Genocchi numbers and note that  $l_{n,\lambda}^{(0)} = \mathcal{E}_{n,\lambda}(x)$ ,  $l_{n,\lambda}^{(1)}(x) = g_{n,\lambda}(x)$ , ( $n \geq 0$ ).

From (10), we have

$$(11) \quad \begin{aligned} \sum_{n=0}^{\infty} l_{n,\lambda}^{(r)}(x+1) \frac{t^n}{n!} &= \frac{2t^r}{e_\lambda(t) + e_\lambda^{-1}(t)} e_\lambda^{x+1}(t) \\ &= \frac{2t^r}{e_\lambda(t) + e_\lambda^{-1}(t)} e_\lambda^x(t) e_\lambda(t) \\ &= \left( \sum_{m=0}^{\infty} l_{m,\lambda}^{(r)}(x) \frac{t^m}{m!} \right) \left( \sum_{i=0}^{\infty} (1)_{i,\lambda} \frac{t^i}{i!} \right) \\ &= \sum_{n=0}^{\infty} \left( \sum_{m=0}^n \binom{n}{m} l_{m,\lambda}^{(r)}(x) (1)_{n-m,\lambda} \right) \frac{t^n}{n!}. \end{aligned}$$

Therefore, by comparing the coefficients on both sides of (11), we obtain the following theorem.

**Theorem 1.** For  $n \geq 0$ , we have

$$l_{n,\lambda}^{(r)}(x+1) = \sum_{m=0}^n \binom{n}{m} l_{m,\lambda}^{(r)}(x) (1)_{n-m,\lambda}, \quad (n \geq 0).$$

From (10), we get

$$(12) \quad \begin{aligned} \sum_{n=0}^{\infty} (x)_{n,\lambda} \frac{t^n}{n!} &= e_\lambda^x(t) = \frac{e_\lambda(t) + e_\lambda^{-1}(t)}{2t^r} \sum_{m=0}^{\infty} l_{m,\lambda}^{(r)}(x) \frac{t^m}{m!} \\ &= \frac{1}{2t^r} \left( \sum_{m=r}^{\infty} l_{m,\lambda}^{(r)}(x) \frac{t^m}{m!} \right) (e_\lambda(t) + e_\lambda^{-1}(t)) \\ &= \frac{1}{2t^r} \left( \sum_{m=0}^{\infty} l_{m+r,\lambda}^{(r)}(x) \frac{t^{m+r}}{(m+r)!} \right) \left( \sum_{k=0}^{\infty} (1)_{k,\lambda} \frac{t^k}{k!} + \sum_{k=0}^{\infty} (1 - e_\lambda(t))^k \right) \\ &= \frac{1}{2} \left( \sum_{m=0}^{\infty} l_{m+r,\lambda}^{(r)}(x) \frac{t^m}{(m+r)!} \right) \left( \sum_{k=0}^{\infty} (1)_{k,\lambda} \frac{t^k}{k!} + \sum_{k=0}^{\infty} \sum_{i=k}^{\infty} S_{2,\lambda}(i,k) (-1)^k k! \frac{t^i}{i!} \right) \\ &= \frac{1}{2} \sum_{n=0}^{\infty} \left( \sum_{m=0}^n \frac{l_{m+r,\lambda}^{(r)}(x)}{(m+r)!} \frac{(1)_{n-m,\lambda}}{(n-m)!} \right) t^n \\ &\quad + \frac{1}{2} \sum_{n=0}^{\infty} \left( \sum_{m=0}^n \frac{l_{m+r,\lambda}^{(r)}(x)}{(m+r)!} \sum_{k=0}^{n-m} \frac{S_{2,\lambda}(n-m,k)}{(n-m)!} (-1)^k k! \right) t^n \end{aligned}$$

$$\begin{aligned}
&= \frac{1}{2} \sum_{n=0}^{\infty} \left( \sum_{m=0}^n \binom{n+r}{m+r} \frac{l_{m+r,\lambda}^{(r)}(x)}{(n+r)_r} (1)_{n-m,\lambda} \right) \frac{t^n}{n!} \\
&\quad + \frac{1}{2} \sum_{n=0}^{\infty} \left( \sum_{m=0}^n \sum_{k=0}^{n-m} \binom{n+r}{m+r} \frac{l_{m+r,\lambda}^{(r)}(x)}{(n+r)_r} S_{2,\lambda}(n-m,k) k! \right) \frac{t^n}{n!} \\
&= \sum_{n=0}^{\infty} \left\{ \frac{1}{2} \sum_{m=0}^n \binom{n+r}{m+r} \frac{l_{m+r,\lambda}^{(r)}(x)}{(n+r)_r} \left( (1)_{n-m,\lambda} + \sum_{k=0}^{n-m} S_{2,\lambda}(n-m,k) k! \right) \right\} \frac{t^n}{n!}.
\end{aligned}$$

Therefore, by comparing the coefficients on both sides of (2), we obtain the following theorem.

**Theorem 2.** For  $n \geq 0$ , we have

$$(x)_{n,\lambda} = \frac{1}{2(n+r)_r} \sum_{m=0}^n \binom{n+r}{m+r} l_{m+r,\lambda}^{(r)}(x) \left( (1)_{n-m,\lambda} + \sum_{k=0}^{n-m} S_{2,\lambda}(n-m,k) k! \right).$$

For  $m \in \mathbb{N}$  with  $m \equiv 1 \pmod{2}$ , we have

$$\begin{aligned}
(13) \quad \sum_{n=0}^{\infty} l_{n,\lambda}^{(r)}(x) \frac{t^n}{n!} &= \frac{2t^r}{e_\lambda(t) + e_\lambda^{-1}(t)} e_\lambda^x(t) \times \frac{e_\lambda(t)}{e_\lambda(t)} \\
&= \frac{2t^r}{e_\lambda^2(t) + 1} e_\lambda^{x+1}(t) = \frac{2t^r}{1 + e_\lambda^{2m}(t)} \sum_{k=0}^{m-1} (-1)^k e_\lambda^{2k+x+1}(t) \\
&= \frac{2(mt)^r}{1 + e_\lambda^{\frac{2}{m}}(mt)} \frac{1}{m^r} \sum_{k=0}^{m-1} (-1)^k e_\lambda^{\frac{2k+x+1}{m}}(mt) \\
&= \frac{1}{m^r} \sum_{k=0}^{m-1} (-1)^k \sum_{n=0}^{\infty} l_{n,\frac{\lambda}{m}}^{(r)} \left( \frac{2k+x+1}{m} - 1 \right) m^n \frac{t^n}{n!} \\
&= \sum_{n=0}^{\infty} m^{n-r} \sum_{k=0}^{m-1} (-1)^k l_{n,\frac{\lambda}{m}}^{(r)} \left( \frac{2k+x+1}{m} - 1 \right) \frac{t^n}{n!}.
\end{aligned}$$

Therefore, by comparing the coefficients on both sides of (13), we obtain the following theorem.

**Theorem 3.** For  $m \in \mathbb{N}$  with  $m \equiv 1 \pmod{2}$ , we have

$$l_{n,\lambda}^{(r)}(x) = m^{n-r} \sum_{k=0}^{m-1} (-1)^k l_{n,\frac{\lambda}{m}}^{(r)} \left( \frac{2k+x+1}{m} - 1 \right).$$

For nonzero  $\alpha \in \mathbb{C}$ , and  $r \in \mathbb{Z}$  with  $r \geq 0$ , we consider the generalized degenerate type 2 Euler-Genocchi polynomials of order  $\alpha$  which are given by

$$(14) \quad t^r \left( \frac{2}{e_\lambda(t) + e_\lambda^{-1}(t)} \right)^\alpha e_\lambda^x(t) = \sum_{n=0}^{\infty} l_{n,\lambda}^{(r,\alpha)}(x) \frac{t^n}{n!}.$$

When  $x = 0$ ,  $l_{n,\lambda}^{(r,\alpha)} = l_{n,\lambda}^{(r,\alpha)}(0)$  are called the generalized degenerate type 2 Euler-Genocchi numbers of order  $\alpha$ .

From (14), we note that

$$\begin{aligned}
 \sum_{n=0}^{\infty} l_{n,\lambda}^{(r,\alpha)}(x) \frac{t^n}{n!} &= t^r \left( \frac{2}{e_\lambda(t) + e_\lambda^{-1}(t)} \right)^\alpha e_\lambda^x(t) \\
 (15) \qquad &= \left( \sum_{m=0}^{\infty} l_{m,\lambda}^{(r,\alpha)} \frac{t^m}{m!} \right) \left( \sum_{k=0}^{\infty} (x)_{k,\lambda} \frac{t^k}{k!} \right) \\
 &= \sum_{n=0}^{\infty} \left( \sum_{m=0}^n \binom{n}{m} l_{m,\lambda}^{(r,\alpha)}(x)_{n-m,\lambda} \right) \frac{t^n}{n!}.
 \end{aligned}$$

Therefore, by comparing the coefficients on both sides of (15), we obtain the following theorem.

**Theorem 4.** For  $n \geq 0$ , we have

$$\begin{aligned}
 l_{n,\lambda}^{(r,\alpha)}(x) &= \sum_{m=0}^n \binom{n}{m} l_{m,\lambda}^{(r,\alpha)}(x)_{n-m,\lambda} \\
 &= \sum_{m=0}^n \binom{n}{m} l_{n-m,\lambda}^{(r,\alpha)}(x)_{m,\lambda}.
 \end{aligned}$$

Let  $\alpha = -m (m \in \mathbb{N})$  and by (6), we get

$$\begin{aligned}
 \sum_{n=0}^{\infty} l_{n,\lambda}^{(r,-m)}(x) \frac{t^n}{n!} &= t^r \left( \frac{2}{e_\lambda(t) + e_\lambda^{-1}(t)} \right)^{-m} e_\lambda^x(t) = \frac{t^r}{2^m} (e_\lambda + e_\lambda^{-1}(t))^m e_\lambda^x(t) \\
 (16) \qquad &= \frac{t^r}{2^m} e_\lambda^x(t) \sum_{l=0}^m \binom{m}{l} e_\lambda^{m-l}(t) e_\lambda^{-l}(t) = \frac{t^r}{2^m} e_\lambda^x(t) \sum_{l=0}^m \binom{m}{l} e_\lambda^{m-2l}(t) \\
 &= \frac{t^r}{2^m} \sum_{l=0}^m \binom{m}{l} e_\lambda^{m-2l+x}(t) = \frac{t^r}{2^m} \sum_{l=0}^m \binom{m}{l} \sum_{n=0}^{\infty} (m-2l+x)_{n,\lambda} \frac{t^n}{n!} \\
 &= \sum_{n=r}^{\infty} \sum_{l=0}^m \frac{1}{2^m} \binom{m}{l} (m-2l+x)_{n-r,\lambda} \frac{n!}{(n-r)!} \frac{t^n}{n!} \\
 &= \sum_{n=r}^{\infty} \frac{1}{2^m} \sum_{l=0}^m \binom{m}{l} (m-2l+x)_{n-r,\lambda} (n)_r \frac{t^n}{n!}.
 \end{aligned}$$

Therefore, by comparing the coefficients on both sides of (16), we obtain following theorem.

**Theorem 5.** For  $m \in \mathbb{N}$ , we have

$$l_{n,\lambda}^{(r,-m)}(x) = \frac{(n)_r}{2^m} \sum_{l=0}^m \binom{m}{l} (m-2l+x)_{n-r,\lambda},$$

when  $x = 0$ , we have

$$l_{n,\lambda}^{(r,-m)} = \frac{(n)_r}{2^m} \sum_{l=0}^m \binom{m}{l} (m-2l)_{n-r,\lambda}.$$

From (14) and (16), we have

$$\begin{aligned}
l_{n,\lambda}^{(r,-m)}(x) &= \sum_{m=0}^n \binom{n}{m} l_{n-m,\lambda}^{(r,-m)}(x)_{m,\lambda} \\
(17) \quad &= \sum_{m=0}^n \binom{n}{m} \frac{(n)_r}{2^m} \sum_{l=0}^m \binom{m}{l} (m-2l)_{n-r,\lambda}(x)_{m,\lambda} \\
&= \frac{1}{2^m} \sum_{m=0}^n \sum_{l=0}^m \binom{n}{m} \binom{m}{l} (n-m+2l)_{r,\lambda}(x)_{m,\lambda} (m-2l)_{n-m-r}.
\end{aligned}$$

By (17), we get

$$\begin{aligned}
\sum_{n=0}^{\infty} l_{n,\lambda}^{(r,\alpha)}(x) \frac{t^n}{n!} &= t^r \left( \frac{2}{e_\lambda(t) + e_{\lambda^{-1}}(t)} \right)^\alpha e_\lambda^x(t) = t^r \sum_{n=0}^{\infty} E_{n,\lambda}^{(\alpha)}(x) \frac{t^n}{n!} \\
(18) \quad &= t^r \sum_{n=r}^{\infty} E_{n-r,\lambda}^{(\alpha)}(x) \frac{t^{n-r}}{n!} = \sum_{n=r}^{\infty} E_{n-r,\lambda}^{(\alpha)}(x) \frac{t^n}{(n-r)! n!} \\
&= \sum_{n=r}^{\infty} E_{n-r,\lambda}^{(\alpha)}(x) (n)_r \frac{t^n}{n!}.
\end{aligned}$$

**Theorem 6.** For  $n, r \geq 0$  with  $n \geq r$ , we have

$$l_{n,\lambda}^{(r,\alpha)}(x) = (n)_r E_{n-r,\lambda}^{(\alpha)}(x).$$

In particular for  $x = 0$ , we get

$$(19) \quad l_{n,\lambda}^{(r,\alpha)} = (n)_r E_{n-r,\lambda}^{(\alpha)}.$$

By (15) and (19), we get

$$\begin{aligned}
l_{n,\lambda}^{(r,\alpha)}(x) &= \sum_{m=0}^n \binom{n}{m} l_{n-m,\lambda}^{(r,\alpha)}(x)_{m,\lambda} \\
(20) \quad &= \sum_{m=0}^{n-r} \binom{n}{m} l_{n-m}^{(r,\alpha)}(x)_{m,\lambda} = \sum_{m=0}^{n-r} \binom{n}{m} (n-m)_r E_{n-m-r,\lambda}^{(\alpha)}(x)_{m,\lambda} \\
&= (n)_r \sum_{m=0}^{n-r} \binom{n-r}{m} E_{n-m-r,\lambda}^{(\alpha)}(x)_{m,\lambda} \\
&= (n)_r (x)_{n-r,\lambda} + (n)_r \sum_{m=0}^{n-r-1} \binom{n-r}{m} E_{n-m-r,\lambda}^{(\alpha)}(x)_{m,\lambda}.
\end{aligned}$$

Therefore, by(20), we obtain the following theorem.

**Theorem 7.** For any nonzero  $\alpha \in \mathbb{C}$  and  $n, r \geq 0$  with  $n \geq r$ , we have

$$l_{n,\lambda}^{(r,\alpha)}(x) = (n)_r (x)_{n-r,\lambda} + (n)_r \sum_{m=0}^{n-r-1} \binom{n-r}{m} E_{n-m-r,\lambda}^{(\alpha)}(x)_{m,\lambda}.$$

Now, we consider the degenerate higher-order type 2 Euler numbers and note that

$$\begin{aligned}
\sum_{n=0}^{\infty} E_{n,\lambda}^{(\alpha)} \frac{t^n}{n!} &= \left( \frac{2}{e_\lambda(t) + e_\lambda^{-1}(t)} \right)^\alpha = \left( \frac{1}{2} (e_\lambda(t) + e_\lambda^{-1}(t)) \right)^{-\alpha} \\
&= \left( \frac{1}{2} (e_\lambda^2(t) + 1) \right)^{-\alpha} = \left( \frac{1}{2} \left( 1 + \sum_{i=0}^{\infty} (2)_{i,\lambda} \frac{t^i}{i!} \right) \right)^{-\alpha} \\
&= \left( 1 + \sum_{i=1}^{\infty} \frac{1}{2} (2)_{i,\lambda} \frac{t^i}{i!} \right)^{-\alpha} = \left( 1 + \sum_{i=1}^{\infty} 2^i (1)_{i,\lambda} \frac{t^i}{i} \right)^{-\alpha} \\
(21) \quad &= 1 + \sum_{k=1}^{\infty} (-\alpha)_k 2^k \frac{1}{k!} \left( \sum_{i=1}^{\infty} (1)_{i,\lambda} \frac{t^i}{i!} \right)^k \\
&= 1 + \sum_{k=1}^{\infty} (-\alpha)_k 2^k \sum_{n=k}^{\infty} B_{n,k}((1)_{1,\lambda}, (1)_{2,\lambda} \cdots (1)_{n-k+1,\lambda}) \frac{t^n}{n!} \\
&= 1 + \sum_{n=1}^{\infty} \sum_{k=1}^n (-\alpha)_k 2^k B_{n,k}((1)_{1,\lambda}, (1)_{2,\lambda} \cdots (1)_{n-k+1,\lambda}) \frac{t^n}{n!}.
\end{aligned}$$

Therefore, by comparing the coefficients on both sides of (21), we obtain the following theorem.

**Theorem 8.** For  $n \geq 0$ , we have

$$\begin{aligned}
E_{n,\lambda}^{(\alpha)} &= \sum_{k=1}^n (-\alpha)_k 2^k B_{n,k}((1)_{1,\lambda}, (1)_{2,\lambda} \cdots (1)_{n-k+1,\lambda}) \\
&= \sum_{k=1}^n (-\alpha)_k 2^k S_{2,\lambda}(n, k).
\end{aligned}$$

From Theorem 8, we have

$$\begin{aligned}
l_{n,\lambda}^{(r,\alpha)}(x) &= (n)_r(x)_{n-r,\lambda} + (n)_r \sum_{m=0}^{n-r-1} \binom{n-r}{m} E_{n-m-r,\lambda}^{(\alpha)}(x)_{m,\lambda} \\
(22) \quad &= (n)_r(x)_{n-r,\lambda} + (n)_r \sum_{m=0}^{n-r-1} \binom{n-r}{m} (x)_{m,\lambda} \sum_{j=1}^{n-m-r} (-\alpha)_j 2^j S_{2,\lambda}(n-m-r, j) \\
&= (n)_r(x)_{n-r,\lambda} + (n)_r \sum_{m=0}^{n-r-1} \sum_{j=1}^{n-m-r} \binom{n-r}{m} (-\alpha)_j 2^j S_{2,\lambda}(n-m-r, j) (x)_{m,\lambda}.
\end{aligned}$$

and

$$(23) \quad l_{n,\lambda}^{(r,\alpha)} = (n)_r \sum_{j=1}^{n-r} (-\alpha)_j 2^j S_{2,\lambda}(n-r, j),$$

where,  $n, r \in \mathbb{Z}$  with  $n > r \geq 0$ .

Replacing  $n$  by  $n+r$  in (23), we get

$$(24) \quad l_{n+r,\lambda}^{r,\alpha}(x) = (n+r)_r(x)_{n,\lambda} + (n+r)_r \sum_{m=0}^{n-1} \sum_{j=1}^{n-m} \binom{n}{m} (-\alpha)_j 2^j S_{2,\lambda}(n-m, j) (x)_{m,\lambda}, \quad (n \geq 1).$$

Thus we have

$$(25) \quad (x)_{n,\lambda} = \frac{1}{(n+r)_r} I_{n+r,\lambda}^{(r,\alpha)}(x) - \sum_{m=0}^{n-1} \sum_{j=1}^{n-m} \binom{n}{m} (-\alpha)_j 2^j S_{2,\lambda}(n-m, j) (x)_{m,\lambda}, \quad (n \geq 1).$$

Therefore, by (25), we obtain the following theorem.

**Theorem 9.** For  $n \geq 1$ , we have

$$(x)_{n,\lambda} = \frac{1}{(n+r)_r} I_{n+r,\lambda}^{(r,\alpha)}(x) - \sum_{m=0}^{n-1} \sum_{j=1}^{n-m} \binom{n}{m} (-\alpha)_j 2^j S_{2,\lambda}(n-m, j) (x)_{m,\lambda}, \quad (n \geq 1).$$

### 3. CONCLUSION

Recently, many researchers studied the degenerate version of special polynomials and numbers and Kim-Kim-Kim introduced the generalized degenerate Euler-Genocchi polynomials. The aim of this paper, we considered the generalized degenerate type 2 Euler polynomials as the modified version of the generalized degenerate Euler-Genocchi polynomials. In addition, we define their higher-order version, namely the generalized degenerate type 2 Euler-Genocchi polynomials of order  $\alpha$  and investigated some properties and identities involving those polynomials the generalizes falling factorials, the degenerate type 2 Euler polynomials of order  $\alpha$ , the degenerate Stirling numbers of the second kind and the alternating degenerate power sum of integers.

### REFERENCES

- [1] M. Masjed-Jamei, M. R. Beyki, W. Koepf *A New Type of Euler Polynomials and Numbers* Mediterranean Journal of Mathematics **15**, 138 (2018)
- [2] Carlitz, L. *Degenerate Stirling, Bernoulli and Eulerian numbers*. Utilitas Math. **15** (1979), 51-88.
- [3] Carlitz, L. *A degenerate Staudt-Clausen theorem*. Arch. Math. (Basel) **7** (1956), 28-33.
- [4] Comtet, L. *Advanced combinatorics*. The art of finite and infinite expansions. Revised and enlarged edition. D. Reidel Publishing Co., Dordrecht, 1974. xi+343 pp. ISBN: 90-277-0441-4-05-02
- [5] Goubi, M. *On a generalized family of Euler-Genocchi polynomials*. Integers **21** (2021), Paper No. A48, 13 pp.
- [6] Kim, B. M.; Jang, L.-C.; Kim, W.; Kwon, H.-I. *Degenerate Changhee-Genocchi numbers and polynomials*. J. Inequal. Appl. 2017, Paper No. 294, 10 pp.
- [7] Kim, D. S.; Kim, T.; Lee, S.-H.; Park, J.-W. *Some new formulas of complete and incomplete degenerate Bell polynomials*. Adv. Difference Equ. 2021, Paper No. 326, 10 pp.
- [8] Kim, D. S.; Kim, T. *A note on a new type of degenerate Bernoulli numbers*. Russ. J. Math. Phys. **27** (2020), no. 2, 227-235.
- [9] Kim, T.; Kim, D. S.; Kwon, J.; Lee, H.; Park, S.-H. *Some properties of degenerate complete and partial Bell polynomials*. Adv. Difference Equ. 2021, Paper No. 304, 12 pp.
- [10] Kim, T.; Kim, D. S.; Jang, L.-C.; Kim, H.-Y. *On type 2 degenerate Bernoulli and Euler polynomials of complex variable* Adv. Difference Equ. Article number: 490 (2019).
- [11] Kim, T.; Kim, D. S.; Kim, H. K. *On generalized degenerate Euler-Genocchi polynomials* arXiv:2208.07549.
- [12] Jang, G.-W.; Kim, T.; *A note on type 2 degenerate Euler and Bernoulli polynomials* 2019, vol.29, no.1, pp. 147-159 13pp
- [13] Kim, T.; Kim, D. S.; Kwon, J.; Kim, H.-Y. *A note on degenerate Genocchi and poly-Genocchi numbers and polynomials* Journal of Inequalities and Applications volume 2020, 110 (2020)
- [14] Kim, T.; Kim, D. S. *On some degenerate differential and degenerate difference operators*. Russ. J. Math. Phys. **29** (2022), no. 1, 37-46.
- [15] Kim, T.; Kim, D. S.; Jang, G.-W. *On degenerate central complete Bell polynomials*. Appl. Anal. Discrete Math. **13** (2019), no. 3, 805-818.



DEPARTMENT OF MATHEMATICS, KWANGWOON UNIVERSITY, SEOUL, 139-701, REPUBLIC OF KOREA  
*Email address:* gksdud213@kw.ac.kr

GRADUATE SCHOOL OF EDUCATION, KONKUK UNIVERSITY, SEOUL, 05029, REPUBLIC OF KOREA  
*Email address:* lcjang@konkuk.ac.kr

DEPARTMENT OF MATHEMATICS EDUCATION, GYEONGSANG NATIONAL UNIVERSITY, JINJU, 52828, REPUBLIC OF KOREA  
*Email address:* mathkjk26@gnu.ac.kr